2025/07/02 08:15

1/3

vesO O

vcesl] [

1. ucli

simv [simv_options] -ucli

% simv -ucli
uclis
#00OhelpOOOOOO

000000 :simv -ucli -i ucli_script.inc

O0O000tlD0O0O0OoDooOforo0d

i $i incr i
force a
run 10ns
force a
run 10ns

forceJO00O0OO0OOforce0 00 0O0O0O0OOOOforce0000OO0OOOOnO

forceC0000000000ODOOODS8d28, 00000280 000000000000O0OD0O forced

ugd

2.0 registerd 0 OO

O000OnetlistO00000O0O0O0OOreset/set0register0 00 0000000XO0O0O0O

+vcs+initreg+random option must be specified at compile time

#00000 run simvO OO
+vcs+initreg+0
+vcs+initreg+l
+vcs+initreg+random
+vcs+initreg+seed value

3.0 0 O timing violation 00 O O X[

000000 +no notifierd OO

// 000000
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4. plusargs

edastudy:vcs:vcs

oo http://vmcc.vicp.net:9090/wiki/doku.php?id=edastudy:vcs:vcs%E4%BD%BF%E7%94%A8&rev=1721806302

$test$plusargs("test”
$display( "haha"

./simv+test

5.000

o?°

vcs -diag=sdf:verbose example.v

simv

% cat sdfAnnotateInfo

The following is the output:

Static entries in elaborated design under "test":
Annotated by SDF "example.sdf":

o®

No. of Pathdelays = 4 Annotated = 50.00%
No. of Tchecks = 4 Annotated = 50.00%
Total Annotated

Percentage

IOPATH 4 2
50.00%

Path Delays Summary of above

SETUPHOLD 4 2

50.00%
Timing checks Summary of above

OverAll Static entries in elaborated design:

No. of Pathdelays = 4 Annotated = 50.00%
No. of Tchecks = 4 Annotated = 50.00%
Total Annotated

Percentage

IOPATH 4 2
50.00%

Path Delays Summary of above
6. kdb

# VCS Two-step Flow Compilation:
vcs -debug access+r -sverilog -kdb top.v

# VCS Three-step Flow Compilation:
vlogan top.v -kdb
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vcs top -debug access+r -kdb

7. rand seed

seed
ret

$value$plusargs("seed=%d", seed
$display("seed = %0d", seed
ret $urandom(seed

ret $urandom
$display("ret = %0x

ret

$finish

simv +seed=

seed =

ret = c7466bae
ret = cf3f2455
ret = ffOb7390
ret = 5cbc21lbd

simv +seed=

seed =

ret = 4c85682
ret = 2c3fdlla
ret = 6f1599cc
ret = 7098322c
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